Blaze King Royal Guardian Fresh Air Kit & Mobile
Home Kit (#Z8300AA) Installation Instructions

This kit is intended to bring fresh air for combustion through the floor/hearth or the wall.
Special care should be paid when drilling holes....measure twice drill once. This kit includes:
(1) #Z8317A (Outside Air Cap with rodent guard) with (2) #10 x 3/8” sheet metal screws
(1) #FLPLATES3 (Floor Flange)

(4) #8 x 11/4” wood screws with 1/4” washers (2) #10 x 3/8” sheet metal screws
(2) 1/4” x 3” Lag Bolts with 1/4” washers
(1) Length 3” dia. x 30” flex pipe complete with hose clamp
(1) Length 6” dia. x 24” galvanized pipe

This is a rear view of the Royal Guardian, sitting on
a raised platform for illustration purposes only. The
fresh air kit can be used for thru the floor or wall
applications. These instructions can be applied to
either application.

Remove the main air tube adapter from
the packaging. Slide the adapter onto
the bottom of the main air tube.

Once in place, screw the
two (2) #10 x 3/8” sheet
metal screws using a
Robertson bit screw driv-
er through the adapter
into the main air tube.
There are two predrilled
holes, one on each side.

Page 1



Position stove and
locate position where
6” hole is to be made.
Trace the ring of the
floor flange and cut so
as to remove the mark,
ensuring a nice fit.

||Included with this kit is a 24”
length of 6” galvanized pipe.
You can attach the pipe at this
time if the access under the floor
is limited. Use the enclsoed #10
X 3/8” sheet metal screws to
make the connection secure.

Using the supplied
screws, secure the floor
flange to the floor or wall
at this time. Slide the 3”
flex tube onto the adapter
and secure with enclosed
hose clamp. Run the 3"
flex inside the 6” galva-
nized pipe secured earlier.

For mobile home applications please

s | [anchor the stove using the enclosed 3" lag
screw with 1/4” washers. The approved
location, as shown here is located at the
rear of the stove. For added safety, remove
ash pan and drill a second 1/4” hole near
front of the base. A second 3" lag screw
has been included for this purpose.

Page 2




Good Job!

Should you have any concerns when installing the Royal Guardian fresh air/mobile home kit, you
may contact us at the numbers below or visit with your Blaze King dealer.

In the USA call 509-522-2730
In Canada call 250-493-7444

Page 3



